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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
O 2PpPTRE Ted o
fa)  When does Heckscher-Ohlin theory hold
good?
IR-9'fo Ot e IR =70

(b) Mention any one protective device.
H R @ 9ft e SrEw 391 1

fc) What happens if the cost difference is
the same in two countries?

T4 OPR RS 1 % 20§ =0
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(2)

(d) Write True or False :
WE (7 T e

The theory of comparative cost
advantage is based on complete
specialization.

TENES IFA JRe wefb o ReiEieas

evqe Afefe |

(e} What is import quota?
S SR e 62

(i, What does forward shifting of an offer
curve mean?

qoE oW qF TAE AREeT EidE
L& ?
g} Name one non-tariff barrier.

OBl T-9% ARSIHPT 7N &7 |

2. Answer the following questions : 2%4=8
OO iR Ted ford

(a) Mention any two gains from
international trade.

S e & el 161 wS TeEd 4 |

(b) Distinguish between commodity terms
of trade and gross barter terms of trade.

T e 5% e 30 R qide vee T
N1 fesi |

(¢} Mention two advantages of free trade.

T J1Ters o1 R Teay 40 |
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(3)

(d) What was the empirical result of
Leontief’s study?

fermibes semae wufefes e @ Wit 2

3. Answer any three of the following questions :
5x3=15
O PR 1 e Tofb T oy -
(a) Discuss the effects of protection policy.
I TSI ACTE ST 344 |
(b) Examine the effects of export subsidy on
an economy.

< S 1 TR Ao R
ESIN!

() “The effects of tariff and quota are
equivalent.” Explain.
“ww A e SRR, STrge 17
RUSIECTIN

(d} The domestic cost ratios of two goods
X and Y between two countries A and B
are 5X :10Y and 5X :15Y respectively.
According to the- theory of comparative
cost, in which good A and in which good
B will specialize?
T4 (71 A SF BT 4R A1 X WF Y F 940
WI T DH W 5X:10Y e
5X :15Y. PEHIgeiE q7 g Egﬁ IR
TS A GiCY WE Ry TS B gies
e 3R7 2

(e) Explain the concept of single-factor
intensity reversal.
GFF-BAMI 29ed Re@reyrem dr=eifs e
E N
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4. Answer the following questions :

@ PR Ted fora
(a) Discuss various effects of tariff.
weq fafen gz e 90
Or / 93

Define optimum tariff. Explain the
concept of optimum tariff without

10

retaliation and with retaliation. 2+4+4=10

W@mwﬁmnﬁmﬁmatwaﬁwm
Sf3re S WE 4en T P
(b) “Foreign trade is called as an engine of
growth.” Why?
o A ST REmE XEm
=1 592
Or / 31

Explain how factor abundancy is proved
in Heckscher-Ohlin theory.

- ogve B e @
S 91 C2R, I P

(¢) Discuss the factors affecting terms of
trade of a country.
<@ orR qlRTe 5 SEEiRe I FEEIR
DA 9|

Or / 9%l

What is reciprocal demand? What does

offer curve indicate? Derive equilibrium
terms of trade with the help of offer

10

10

curves. 2+2+6=10

sig=eife SifEm %2 s q@ & FoeT I 2
o I ﬁwmaﬁ@wwﬁwﬂ
790 |
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